
Question 1: DSS queries do not involve a primary key

TRUE

False

Question 2: Cube is a __________ entity containing values of a certain fact at a certain
aggregation level at an intersection of a combination of dimensions.

Logical

Physical
Analytical
None of these

Question 3: There are many variants of the traditional nested-loop join, if there is an index is
exploited, then it is called __________

Naïve nested loop join
index nested loop join

temporary index nested loop join
none of these

Question 4: Multidimensional databases typically use proprietary __________ format to store
pre-summarized cube structures.

File

Application
Aggregate
Database

Question 5: The goal of star schema design is to simplify __________.

Logical data model
Physical data model

Conceptual data model
None of the given

Question 6: Suppose the amount of data recorded in an organization is doubled every year. This
increase is __________.

Linear
Quadratic
Exponential

Logarithmic

Question 7: in agriculture extension is that pest population beyond which the benefit of spraying
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